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s 1,021 | 1000 | 11,803 [ 100.0 4| 1000 537 | 100.0 | 11,319 | 100.0 4| 1000 484 | 100.0 484 [ 100.0 -
REE 12| 110 173 15 1 25.0 28 5.2 89 0.8 250 84| 174 84| 174 -
XS B 33 32| 1,081 9.2 1 250 32 6.0 1,080 9.5 1 25.0 1 0.2 1 0.2 -
WREEE |BEmE 05 415 35 - - 0.9 415 37 - - - - - - -
REF 0.5 176 15 - - 0.9 176 1.6 - - - - - - -
EANR—L 20 20 472 40 1 250 20 37 472 42 1 25.0 - - - - -
HEE - - - - - - - - - - - - - - - - -
Z 0t 3 0.3 18 0.2 - - 2 0.4 17 0.2 - - 1 0.2 1 0.2 -
L0 S % 7 0.7 190 16 - - 7 13 190 1.7 - - - - - - -
aRikk (BMEREE |HHE 1 0.1 26 0.2 - - 1 0.2 26 0.2 - - - - - - -
INERR - - - - - - - - - - - - - - - - -
R 1 0.1 66 0.6 - - 1 0.2 66 0.6 - - - - - - -
Z Dt 2 0.2 67 06 - - 2 04 67 0.6 - - - - - - -
H [ ARG - - - - - - - - - - - - - - - - -
Z Dt - - - - - - - - - - - - - - - - -
BEE 1 0.1 6 0.1 - - 1 0.2 6 0.1 - - - - - - -
Z Dt 2 0.2 25 0.2 - - 2 04 25 0.2 - - - - - - -
e R 9 09| 295 25 - - 9 1.7 295 2.6 - - - - - - -
HEmER 9 09| 295 25 - - 9 1.7 295 2.6 - - - - - - -
HES - - - - - - - - - - - - - - - - -
ZDfth - - - - - - - - - - - - - - - - -
WREE 26 25 550 47 - - 25 47 549 49 - - 1 0.2 1 0.2 -
HREE 489 | 479| 6527 553 1 250 353 | 657 6,391 56.5 1 250 136 | 28.1 136 | 28.1 -
BR5EIE 62 6.1 161 14 - - 6 1.1 105 0.9 - - 56| 11.6 56| 11.6 -
&R 12 12| 1169 9.9 - - 11 20| 1,168 103 - - 1 0.2 1 0.2 -
THE 22 22| 1,123 9.5 1 25.0 22 41| 1,123 9.9 1 25.0 - - - - -
FREIS AT - - - - - - - - - - - - - - - - -
Z Dt 10 1.0 156 13 - - 7 1.3 153 14 - - 3 0.6 3 0.6 -
B 239 | 234 378 32 - - 37 6.9 176 16 - - 202 | 417 202 | 417 -
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800 L2HROBHEEHROERER
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600 A \/
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#
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300 V

200

100

0

H24%F |H25%5 |H26%F |H274F |H284F |H29%F |H304F | R1%E | R25 | R3%F | RAEE | RSHF

——REE 117 | 71 79 | 117 | 118 | 100 | 163 | 151 | 166 | 106 | 130 | 112
—W-FXi5 45 44 37 42 52 23 40 33 31 31 25 33
B 19 16 10 12 19 28 21 8 12 10 13
= fxlE 3 5 6 7 5 6 5 4 5 2
== TREE 66 47 48 64 50 39 31 29 11 12 8 26
--REE 614 | 549 | 590 | 742 | 713 | 598 | 722 | 580 | 375 | 283 | 380 | 489
—— R 5T G 16 30 29 23 31 48 | 106 | 50 49 40 87 62
— BT 13 10 8 7 6 8 11 13 7 10 3 12
—{tHLE | 45 37 35 53 40 38 30 19 26 16 20 22
——FEEAT| 1 1 0 0 1 1 3 1 0 1 0 0
~=-Z D 20 15 7 17 16 8 10 11 6 2 5 10
A= AEH 141 | 106 | 127 | 118 | 83 | 117 | 188 | 162 | 200 | 201 | 289 | 239

19




FRREFEERA A =B HR O ERER
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BRFEEHBOERKER
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100

0

H24%F | H255F | H26%F | H274F | H28%F | H29%F | H30%E | R1%E | R25E | R35E | R4AE | RSHE

——F[E 78 40 36 52 61 31 36 48 42 27 28 28
-B-F X5 45 44 37 42 52 23 40 33 31 31 24 32
R 19 16 10 12 19 28 21 12 10 13
=< JxlE 3 5 6 7 5 6 5 4 5 2
=t HREE 66 45 48 64 50 39 30 28 10 12 8 25
-o-REE 587 | 510 | 550 | 698 | 660 | 515 | 593 | 490 | 275 196 | 234 | 353
—t— R 5T G 7 4 13 7 8 7 6 3 6 3 6 6
— B E T 13 10 5 6 6 7 6 12 7 10 1 11
—{tHLE | 45 37 34 53 40 37 30 19 26 15 20 22
——REUGRT 1 1 0 1 1 0 1 0
=m=-Z0ith 19 14 16 16 8 11 2
~h—7ABf 41 30 41 35 38 43 48 32 37 28 30 37
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FLRRERBRANH-BEROERMDE

EROEBPEBERD FRANHER
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16,000

14,000

12,000

10,000
10h
£)
=}

8,000
A

6,000 A\ ’

4,000 A A

2,000 A

0 v v v
H24%F | H25%F |H264F |H274F |H284F |H294 |H304F | R15 | R24F | R3 RAZE | RSEE

——REE 332 | 169 | 161 | 302 | 234 | 179 | 224 | 314 | 244 | 156 | 183 | 173
-w-FEEE | 1,076|1,663| 903 | 1,217 2,002 | 623 | 1,959 | 865 | 984 | 1,189 | 949 | 1,081
—h— R 954 | 728 | 246 | 627 | 845 |2,675|1,075| 228 | 331 | 542 | 393 | 190
= JR e 65 | 291 | 209 | 253 | 340 | 332 | 103 | 211 | 81 | 283 | 43 | 295
= fRtE 3,649 | 2,385 | 2,308 | 2,016 | 2,750 | 1,852 | 1,266 | 1,719 | 508 | 386 | 245 | 550
—o-fREE |11,286/10,988/10,264|12,734/11,135| 8,007 | 8,580 | 7,288 | 6,955 | 2,646 | 3,106 | 6,527
=R 55 S 149 | 74 | 743 | 151 | 146 | 85 173 | 61 90 44 | 154 | 161
—&IERT | 1,319 394 1,467 | 183 | 160 | 164 | 345 | 871 | 631 |2,127| 12 | 1,169
——{tHLE | 6,353 | 2,989 | 2,348 | 4,330 | 1,523 | 1,605 | 2,682 | 868 | 4,310 | 3,010 | 1,323 | 1,123
—— XS 6 2 0 0 2 43 3 2 0 3 0 0
== Z D1t 852 | 758 | 317 | 542 | 449 | 377 | 393 | 199 | 37 4 79 | 156
A= 7<B 658 | 361 | 389 | 363 | 666 | 522 | 479 | 392 | 442 | 690 | 369 | 378
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FLRRERBRANH-BEROERMDE

RABRANBPEEERDOFRHERS

(CALLEDEEH)

18,000

16,000

14,000

12,000
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4,000 N\ AN

2,000

0 &
H24%E | H25%F | H26%F | H274F | H284E | H294F | H30%E | R1%E | R2%E | R3 RAZE | RSE

——RE 293 138 118 237 177 110 97 211 120 77 81 89
-W-E%EE | 1,076 | 1,663 | 903 | 1,217 | 2,002 | 623 | 1,959 | 865 984 | 1,189 | 948 | 1,080
== EER 954 728 246 627 845 | 2,675 | 1,075 | 228 331 542 393 190
=>JEkE 65 291 209 253 340 332 103 211 81 283 43 295
i fRhE 3,649 | 2,383 | 2,308 | 2,016 | 2,750 | 1,852 | 1,265 | 1,718 | 507 386 245 549
-o-£REE | 11,259 10,949 | 10,224 | 12,690 | 11,082 | 7,924 | 8,451 | 7,198 | 6,855 | 2,559 | 2,960 | 6,391
——BR5EE 140 48 727 135 123 44 73 14 47 7 73 105
—&8ERT | 1,319 | 394 | 1,464 | 182 160 163 340 870 631 | 2,127 | 10 | 1,168
—tHLE | 6,353 | 2,989 | 2,347 | 4,330 | 1,523 | 1,604 | 2,682 | 868 | 4,310 | 3,009 | 1,323 | 1,123
——XEUEFT 6 2 0 0 2 43 0 2 0 3 0 0
~-Z D1t 851 757 317 541 449 377 390 199 33 4 76 153
=B 558 285 303 280 616 448 339 262 279 517 110 176
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RERMANFEERS (FHS5E)

GB2 AL EDEH) 3B1ADEH)

Eﬁ# (%) Eﬁ% % ?E;;.‘ % Eﬁ# (%) Eﬁ% % ?E;;.‘ % Eﬁ# (%) Eﬁ% % ?E;;.‘

W 1,021 | 1000 | 11,803 | 100.0 4] 1000 537 | 1000 11,319 | 100.0 4] 1000 484 | 100.0 484 | 100.0 -
REE&-BEEFIH 813 | 79.6 | 11,491 97.4 4] 1000 504 | 939 11,182 988 4] 1000 309 | 638 309 | 638 -
FEE& - BEETH 208 | 204 312 26 - - 33 6.1 137 1.2 - - 175| 362 175| 362 -
W 1,021 | 1000 | 11,803 | 100.0 4] 1000 537 | 1000 11,319 | 100.0 4] 1000 484 | 100.0 484 | 100.0 -
AN i 318 | 31.1 694 5.9 - - 38 7.1 414 3.7 - - 280 | 579 280 | 579 -
=] 5 0.5 26 0.2 - - 4 0.7 25 0.2 - - 1 0.2 1 0.2 -

A 9 0.9 10 0.1 - - 1 0.2 2 0.0 - - 8 1.7 8 1.7 -

ZDith 304 298 658 5.6 - - 33 6.1 387 34 - - 271 56.0 271 56.0 -

ANEMT & i 2 0.2 34 0.3 - - 1 0.2 33 0.3 - - 1 0.2 1 0.2 -
AARYVE S 1 0.1 33 0.3 - - 1 0.2 33 0.3 - - - - - - -

ZDith 1 0.1 1 0.0 - - - - - - - - 1 0.2 1 0.2 -

AERVZOMI S 34 33 314 2.7 1 25.0 32 6.0 312 28 1 25.0 2 0.4 2 0.4 -
JERUVZOMI &S 1 0.1 79 0.7 - - 0.2 79 0.7 - - - - - - -
FERUZOMIH 2 0.2 7 0.1 - - 0.4 7 0.1 - - - - - - -
BERUVZOMIS 0.3 940 8.0 - - 0.6 940 8.3 - - - - - - -
HERUZOMIG KB 44 43 212 1.8 1 25.0 28 5.2 196 1.7 1 25.0 16 33 16 33 -
558 - - - - - - - - - - - - - - - - -

=N 24 24 60 0.5 1 25.0 18 34 54 0.5 1 25.0 1.2 6 1.2 -

Z D 20 20 152 1.3 - - 10 1.9 142 1.3 - - 10 2.1 10 2.1 -

EFE 7 0.7 318 2.7 - - 7 1.3 318 2.8 - - - - - - -
BEFEER 27 26 564 48 - - 27 5.0 564 5.0 - - - - - - -
Z Dt a5 375 36.7 | 8329 70.6 2 50.0 365 68.0 | 8319 735 2 50.0 10 2.1 10 2.1 -
BaiFE 20 20| 1016 8.6 - - 18 34| 1014 9.0 - - 2 0.4 2 0.4 -

BERTE 355 | 348 7313| 620 2| 500 347 646 | 7305| 645 2| 500 8 1.7 8 1.7 -

N 208 | 204 312 2.6 - - 33 6.1 137 1.2 - - 175| 362 175| 362 -
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0
H24% |H255F |H26%F |H27 5 |H284F |H294F |H304E | R1%E | R24F | R3 R4E RS54
—o— AN EE 150 | 135 | 155 | 209 | 173 | 196 | 414 | 273 | 299 | 223 | 384 | 318
-B-ENENTR | 14 11 12 15 19 12 26 10 | 13 2 4 2
k) 51 48 83 64 | 80 61 65 58 28 31 29 34
—>=DN$E- T & 6 2 8 3 2 1 2 0 2 1
=¥=Z|5F- T 5 0 0 1 0 0 0 3 0 1 0 2
0 FE- T % 16 | 10 7 7 11 5 7 0 1 2 3
PP ERE- NS 71 | 53 | 44 | 48 | 70 | 27 | 34 | 46 | 43 | 29 | 35 | 44
e B P 4 9 9 3 4 3 5 4 6 2 5 0 7
EEHEES | 74 | 55 | 64 | 69 | 84 | 51 | 77 | 53 | 45 | 41 | 50 | 27
—o—=ZNth 520 | 470 | 453 | 629 | 566 | 512 | 488 | 460 | 284 | 202 | 209 | 375
=<8 189 | 138 | 146 | 156 | 130 | 143 | 211 | 152 | 171 | 182 | 247 | 208
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H24%F | H25%F | H265F | H275F | H28%F | H294F | H304F | R1 R2EE ng R4E RS54
——fANEE 106 | 66 84 | 112 | 82 39 72 55 45 24 29 38
=AM EMITAE | 10 6 6 8 10 6 12 2 3 1 0 1
——$E- NI & 49 47 77 64 80 61 64 58 28 30 29 32
—>=0$E- T & 7 1 2 0 2 1
—=Z.$5- N T 0 1 0 0 0 1 0 2
—o—-EFE- IR 16 10 7 7 11 4 7 0 1 2 3
——BPRFE-MIT | 56 42 32 32 53 21 21 32 29 18 24 28
— BT 5E 9 9 3 4 3 5 4 6 2 5 0 7
HEENREER 71 50 62 68 79 47 73 50 43 36 49 27
—o—=ZD1th 511 | 461 | 444 | 615 | 550 | 492 | 472 | 448 | 266 | 194 | 204 | 365
e : ] 90 63 64 81 85 68 93 35 34 30 29 33
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FLRRARGANCH-BEBROERKED

EROBRPEBERDERER

20,000
18,000 ‘
16,000 A
14,000
%»_ 12,000
A
10,000 S
8,000 /r
6,000
4,000
2,000
0
—— AN EE
—S-ENEMTR | 72 486 85 368 | 227 67 420 90 69 24 4 34
—A—P5E- NI R 511 | 358 | 1,567 | 574 | 1,067 | 638 | 451 | 826 | 682 | 158 | 227 | 314
—=DRE- T & 263 123 95 2 106 4 39 0 107 0 113 79
=¥=ZL3F- NI & 0 0 40 0 0 0 38 0 0 1,896 0 7
—0—-4E- ML & 713 | 258 | 1,350 | 133 | 368 | 113 | 214 59 0 29 27 940
——BPHE- TS| 502 | 497 | 746 190 | 619 | 295 216 | 259 161 212 225 212
— BT 873 274 70 147 27 182 72 536 63 106 0 318
HEEFERS | 2,293 | 2,324 | 3,395 | 1,857 | 2,506 | 1,546 | 2,124 | 1,168 | 4,403 | 1,039 | 2,060 | 564
——=ZNih 18,442 | 14,013 | 9,814 | 16,442 | 12,702 | 11,927 | 11,084 | 8,728 | 8,089 | 6,773 | 3,131 | 8,329
- 7REH 1,809 | 1,662 | 1,059 | 1,373 | 1,518 | 1,223 | 1,415 | 523 | 328 | 508 | 324 | 312
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FLRRARGANCH-BEBROERKED

BRPS2ENOERMR
(AL EDEEH)

20,000
18,000 ‘
16,000 A
14,000
12,000
A 10,000  §
8,000 f
6,000
4,000 /\
2,000 e — )\
v ]
0
H24% | H25%F | H26%F | H274F | H28%4 | H294F | H30% | R1 R2 R3 R4 R5
—— AN E 1,177 | 738 | 1,063 | 1,535 | 1,021 | 312 867 611 457 136 390 | 414
- AN EMT & 68 481 79 361 218 61 406 82 59 23 0 33
== PA5E- T S 509 357 | 1,561 | 574 | 1,067 | 638 450 | 826 682 157 227 312
=PI T M 263 123 94 2 106 4 39 0 107 0 113 79
==ZL5F- NI 0 0 40 0 0 0 38 0 0 1,896 0 7
0 ¥E- T & 713 258 | 1,350 | 133 368 112 214 59 0 29 27 940
——BPEEE- NI &m| 487 486 734 174 602 289 203 245 147 201 214 196
—E T 873 274 70 147 27 182 72 536 63 106 0 318
EEFEREMS | 2,290 | 2,319 | 3,393 | 1,856 | 2,501 | 1,542 | 2,120 | 1,165 | 4,401 | 1,034 | 2,059 | 564
——ZF D1t 18,433 | 14,004 | 9,805 | 16,428 | 12,686 | 11,907 | 11,068 | 8,716 | 8,071 | 6,765 | 3,126 | 8,319
L 1,710 | 1,587 | 977 | 1,298 | 1,473 | 1,148 | 1,297 | 406 191 356 106 137
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8¢

RRME LR (FH5E)

(362 ANLLEDEHI) (551 ADEH)

e | B e | T o |[ B o0 [BF]| % [EF| % [| BT o0 | BT % | ET| %
oY 1,021 | 1000 | 11,803 [ 100.0 4| 1000 537 | 1000 | 11,319 [ 1000 4| 1000 484 | 100.0 484 | 100.0 -
% R $I B 1,001 980 | 11,534 | 977 4| 1000 518 | 965 | 11,051 97.6 4| 1000 483 | 998 483 | 9938 -
wEYE A 20 2.0 269 23 - - 19 35 268 24 - - 1 0.2 1 0.2 -
Y 1,021 | 1000 | 11,803 [ 100.0 4| 1000 537 | 1000 | 11,319 [ 1000 4| 1000 484 | 100.0 484 | 100.0 -

W 311 305 | 4,501 38.1 2| 500 283 | 527 | 4473 | 395 2| 500 28 58 28 58 -
HILERSEER 25 2.4 655 55 1 25.0 24 45 654 58 1 25.0 1 0.2 1 0.2 -
SESHKHE 20 20| 258 2.2 - - 20 37 258 23 - - - - - - -
RYYRRE - - - - - - - - - - - - - - - - -
BRETA 2 0.2 9 0.1 - - 1 0.2 8 0.1 - - 1 0.2 1 0.2 -

PR EH mit KIRE (VTELE) 19 1.9 265 22 - - 17 32 263 23 - - 2 0.4 2 0.4 -
ZDMDOREKEZE 3 0.3 116 1.0 1 25.0 3 0.6 116 10 1 25.0 - - - - -

DI AE 28 27| 1,097 9.3 - - 28 52| 1,007 9.7 - - - - - - -

HE |[wLORE 2 0.2 11 0.1 - - 2 0.4 1 0.1 - - - - - - -
ILY=7-ToT7aa)Fh - - - - - - - - - - - - - - - - -
HAVERNGE—-DxDa= /7Y 211 207 | 2089 | 177 - - 188 | 350 2066 | 183 - - 23 48 23 48 -
FTETUF - - - - - - - - - - - - - - - - -

aLsSH - - - - - - - - - - - - - - - - -

REE - - - - - - - - - - - - - - - - -

FIRE - - - - - - - - - - - - - - - - -
INSFIRAHE - - - - - - - - - - - - - - - - -
ZOHDHE 1 0.1 1 0.0 - - - - - - - - 1 0.2 1 0.2 -

W 164 | 161 | 5530 | 469 1 25.0 164 | 305| 5530 | 489 1 25.0 - - - - -

IAILA /a1 LR 163 | 160| 5502 | 466 - - 163 | 304 5502 | 486 - - - - - - -
ZDHMDIAILR 1 0.1 28 0.2 1 25.0 1 0.2 28 0.2 1 25.0 - - - - -

W 456 | 447 689 58 - - 30 5.6 263 2.3 - - 426 | 880 426 | 880 -

v 22 2.2 246 2.1 - - 21 39 245 22 - - 1 0.2 1 0.2 -

FER [HLaVRTAR - - - - - - - - - - - - - - - - -
F=HEX 432 | 423 441 3.7 - - 9 1.7 18 0.2 - - 423 | 874 423 874 -
ZOMDEFER 2 0.2 2 0.0 - - - - - - - - 2 04 2 04 -
LEME|LEME 8 038 93 08 - - 7 1.3 92 0.8 - - 1 0.2 1 0.2 -
W 57 56 129 1.1 1 25.0 29 54 101 09 1 25.0 28 58 28 58 -

BAE [EMEARS 44 43 114 1.0 1 25.0 27 5.0 97 0.9 1 25.0 17 35 17 35 -
S E RS 13 1.3 15 0.1 - - 2 0.4 4 0.0 - - 1 2.3 1 2.3 -

Dt 5 0.5 592 50 - - 5 0.9 592 5.2 - - - - - - -
] 20 20 269 2.3 - - 19 35 268 24 - - 1 0.2 1 0.2 -
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& 300
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100
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0
=t} LEXTERHE 40 34 35 24 31 35 18 21 33 8 22 25
= 3 ESERE 44 29 26 33 36 22 26 23 21 18 15 20
e G R ET A 9 9 6 3 12 7 22 0 1 0 0 2
== R KR E* 21 24 28 23 20 28 40 27 11 14 10 22
== L)L 2B 26 19 25 21 31 27 32 22 23 30 22 28
=0t XH 2 8 6 6 9 5 8 6 1 5 3 2
e HUE QNI R— | 266 227 306 318 339 320 319 286 182 154 185 211
— O A JLR 416 328 293 481 354 214 256 212 99 72 63 163
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350
& 300
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200
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100
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0
= LERSBE 34 32 31 23 31 33 17 21 32 8 21 24
=l 5 ESERE 42 29 26 33 35 21 26 23 21 18 15 20
e RE T A 8 8 6 3 9 5 21 0 1 0 0 1
e R KR E* 21 24 23 23 20 28 38 25 11 13 10 20
=) T LS A H 26 19 25 21 31 27 32 22 23 30 22 28
==t LY RHE 2 8 6 6 9 5 8 6 1 5 3 2
w——HUEONR—| 193 172 244 277 321 307 313 276 168 139 174 188
e JO A JLR 416 328 293 481 354 214 256 212 99 72 63 163
*GEHOEXRBEEEZST,
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ERDEPEBERDFRIER

18,000
16,000
14,000
12,000
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oh
2 8,000
A
6,000 A
4,000
2,000
0 H24 | H25 | H26 | H27 | H28 | H29 | H30
R14E | R24E | R34E | R44E | RS
g | 5 & | &£ &£ | £ & (F REIREREIRE
——H JLERSERE | 670 | 861 | 440 |1,918| 704 [1,183| 640 | 476 | 861 | 318 | 698 | 655
- N ESERE 854 | 654 [1,277| 619 | 698 | 336 | 405 | 393 | 260 | 285 | 231 | 258
=G RKET A 124 | 164 | 47 | 224 | 240 | 97 | 222 | O 3 0 0 9
e 1PN 611 |1,112| 847 | 518 | 821 |1,214| 860 | 538 |6,314 (2,300 278 | 381
=T )L 2B |1,597| 854 |2,373| 551 |1,411(1,220/2,319 1,166 1,288 | 1,916 | 1,467 | 1,097
-t HRHE 4 98 | 44 | 95 | 125 | 38 | 8 | 229 | 4 51 | 48 | 11
=P EO/\42—| 1,834 1,551 | 1,893 | 2,089 | 3,272 | 2,315 1,995 | 1,937 | 901 | 764 | 822 |2,089
— JOY L)L R 17,632/12,672/10,506|14,876(11,397| 8,496 | 8,475 | 6,889 | 3,660 | 4,733 | 2,175 | 5,502
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12,000
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0
H244E |H25%F |H264F | H274F |H284F |H294F |H304E | R1 R2 R3 R4 RS54
——H)LERSEHR | 664 | 859 | 436 | 1,917 | 704 | 1,181 | 639 | 476 | 860 | 318 | 697 | 654
- ESBRE 852 | 654 |1,277| 619 | 697 | 335 | 405 | 393 | 260 | 285 | 231 | 258
—=fERET A 123 | 163 | 47 | 224 | 237 | 95 | 221 0 3 0 0 8
>R B K * 611 | 1,112 | 842 | 518 | 821 | 1,214 | 858 | 536 |6,314 2,299 | 278 | 379
=TIV E 1,597 | 854 |2,373| 551 |1,4111,2202,319 (1,166 | 1,288 | 1,916 | 1,467 | 1,097
“0-tLHRE 4 98 44 95 | 125 | 38 86 | 229 4 51 48 11
——hER/NI5—| 1,761 | 1,496 | 1,831 | 2,048 | 3,254 | 2,302 | 1,989 | 1,927 | 887 | 749 | 811 | 2,066
— A9 A JLR 17,632|12,672|10,506|14,876|11,397| 8,496 | 8,475 | 6,889 | 3,660 | 4,733 | 2,175 | 5,502
x FEHMEXRBEEZESD,
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RRAME (ELHE) AN CAH-ZHRDOFERIER

H244 H254 H264E H274 H284F H294F H304E R14E R24E R34 R44E R54E
HILERTER 40 34 35 24 31 35 18 21 33 8 22 25
SESKE 44 29 26 33 36 22 26 23 21 18 15 20
IEaeEJT A4 9 9 6 3 12 7 22 0 1 0 0 2
N T 21 24 28 23 20 28 40 27 11 14 10 22
ISR 26 19 25 21 31 27 32 22 23 30 22 28
L ORAE 2 8 6 6 9 5 8 6 1 5 3 2
hoEOnNsE— 266 227 306 318 339 320 319 286 182 154 185 211
EEHMEREEEST,
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BAME (ZTHED) Bl H-BEROFRIER

H244F H254F H264E H274E H284E H294F H304E R14E R2EE R34 RAE R54E
HILERSEE 670 861 440 1,918 704 1,183 640 476 861 318 698 655
SESEHE 854 654 1,277 619 698 336 405 393 260 285 231 258
BaeEJYL 124 164 47 224 240 97 222 0 3 0 0 9
mIREXEGE* 611 1,112 847 518 821 1,214 860 538 6,314 2,300 278 381
I AHE 1,597 854 2,373 551 1,411 1,220 2,319 1,166 1,288 1,916 1,467 1,097
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